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* Goal: have each ...** inputs by some determining characteristics
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* Idea: take s >eat until reached

®* May need to experiment to see which local minimum is smaller
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* Beware! Overfitting = model works fo ny one set of test data
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Neural Networks have many
layers. What do each of the
following layers symbolize?

REVIEW |

® First Layer
®* Middle Layer(s)

® Last Layer



REVIEW I

®*How do we minimize the
cost function? Why is this

important?

®* What adjustments can we
make to our neural network

to make this minimization?¢
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PRACTICE |

Suppose there is a 2-layer neural
network with 2 neurons per layer with the

following weight matrix (and no bias):

Calculate the output with the given input:

input = 0.7
PU =103




Calculate the cost given this expected output:

output = {(1)}

PRACTICE II

Then, calculate the gradient descent.



® 3Blue 1Brown (Information)

®* Wikipedia, DataBricks (Images)




